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Q.20 Select the correct indirect form of the given sentence.  

The mayor said to the marshals, “Don’t conduct any drill tomorrow.”     Ans  1. 

The mayor ordered the marshals not to conduct any drill tomorrow. 

  2. The mayor ordered the marshals not to conducted any drill the next day. 

 3. The mayor ordered the marshals not to conduct any drill the previous day. 

 4. The mayor ordered the marshals not to conduct any drill the next day. 

 

Comprehension: 
In the following passage some of the words have been deleted. Read the passage carefully and select the 

correct answer for the given blank out of the four alternatives. 
The difference between the solar radiation absorbed and the thermal radiation emitted to space (1) _____ 

radiation budget of the earth. Since there is no appreciable long-term trend in planetary temperature, it 

may be (2) ______ that this budget is essentially zero on a global long term average. 
The rate of temperature change in any region is directly (3) ______ to energy budget of the region and 

inversely proportional to its heat capacity. While the radiation (4) ______ may dominate the average energy 

budget of many surfaces, nonradiative energy transfer and storage also are (5) ______ important when local 

changes are considered. 

SubQuestion No : 21 

Comprehension: 
In the following passage some of the words have been deleted. Read the passage carefully and select the 

correct answer for the given blank out of the four alternatives. 
The difference between the solar radiation absorbed and the thermal radiation emitted to space (1) _____ 

radiation budget of the earth. Since there is no appreciable long-term trend in planetary temperature, it 

may be (2) ______ that this budget is essentially zero on a global long term average. 
The rate of temperature change in any region is directly (3) ______ to energy budget of the region and 

inversely proportional to its heat capacity. While the radiation (4) ______ may dominate the average energy 

budget of many surfaces, nonradiative energy transfer and storage also are (5) ______ important when local 

changes are considered. 

SubQuestion No : 22 
Q.22 Select the most appropriate option to fill in blank number 2. 

Ans  1. exercised 

 2. faded 

 3. pleaded 

 4. concluded 

 

  
  
  

  
  
  

 
   

  

  

  

  
  
  



 

  

 Comprehension: 

In the following passage some of the words have been deleted. Read the passage carefully   
  and select the correct answer for the given blank out of the four alternatives. 

 The difference between the solar radiation absorbed and the thermal radiation emitted tospace (1) _____ radiation budget of the earth. Since there is no 

appreciable long-term trend 
in planetary temperature, it may be (2) ______ that this budget is essentially zero on a global long term 

average. 
The rate of temperature change in any region is directly (3) ______ to energy budget of the region and 

inversely proportional to its heat capacity. While the radiation (4) ______ may dominate the average energy 

budget of many surfaces, nonradiative energy transfer and storage also are (5) ______ important when local 

changes are considered. 

SubQuestion No : 23 
Q.23 Select the most appropriate option to fill in blank number 3. 

Ans  1. symmetrical 

 2. twisted 

 3. proportional 

 4. hospitable 

 

Ans 

  
  
  

 
 

 
 

 
 

 
 

 
 

 

 
 

  

  

  

  

  
  
  



 

 

 
 

 
 

 
 

 
 

 
 

 

 
 

   

  

  

  

  
  
  

  
  

  

 

 

 

  
  
  

  

  

  

      



 

  

 
Q.3 By Interchanging the given two numbers (Not digits) which of the following equation will be not correct? 

3 and 8 
I. 6 ÷ 2 × 8 + 3 – 1 = 17 
II. 9 + 3 – 6 ÷ 2 × 8 = 6 

Ans  1. Only II 

 2. Neither I nor II 

 3. Both I and II 

 4. Only I 

 

Q.4 A series is given with one term missing. Select the correct alternative from the given ones that will 

complete the series. DMQ, HUZ, LCI, PKR, ? 

Ans  1. TSB 

 2. TSA 

 3. TRA 

 4. TMO 

 

 

 

  

  

  

  

  
  
  

  

  

      

  
  
  

  
  
  



 

  

Q.5 In the following question, select the odd word pair from the given alternatives. 

 Ans  1. Amphibian – Frog       

  2. Crockery – Cup 

 3. Insect – Butterfly 

 4. Rodent – Lizard 

 

 

Q.7 In the following question below are given some statements followed by some conclusions based on those 

statements. Taking the given statements to be true even if they seem to be at variance from commonly 

known facts. Read all the conclusions and then decide which of the given conclusion logically follows the 

given statements. 

Statements: 
I. No E is F. 
II. All F are D. 

Conclusions: 
I. No E is D. 
II. Some D are F.III. No F is E. 

Ans  1. Both conclusions I and II follows 

 2. All conclusion follows 

 3. Both conclusions II and III follows 

 4. Both conclusions I and III follows 
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Q.10 Select the option that is related to the fifth word in the same way as the second word is related to the 

first word and the fourth word is related to the third word. Truck : Vehicle :: Burger : Food :: Glass : ? 

Ans  1. Furniture 

 2. Crockery 

 3. Grocery 

 4. Electronics 

 

  
  
  



 

  

Q.11 In a certain code language, ‘INCH’ is coded as ‘CXID’. What is the code for ‘HUGE’ in that code 
language?       

 Ans  1. ZBPC 

  2. ZCPC 

 3. ZBPD 

 4. ZBQC 

 

Q.12 Select the option in which the numbers shares the same relationship in set as that shared by the numbers in 

the given set. (NOTE: Operations should be performed on the whole numbers, without breaking down 

the numbers into its constituent digits. 
E.g.13 – Operations on 13 such as adding /subtracting /multiplying etc. to 13 can be performed. Breaking 

down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is not allowed) 
(136, 48, 184) 
(189, 37, 226) 

 Ans  1. (116, 62, 178) 

 2. (203, 69, 262) 

 3. (148, 84, 222) 

 4. (211, 17, 238) 

 

Ans 
Q.14 Select the option in which the numbers share the same relationship in set as that shared by the numbers in 

the given set. (NOTE: Operations should be performed on the whole numbers, without breaking down 

the numbers into its constituent digits. 
E.g.13 – Operations on 13 such as adding /subtracting /multiplying etc. to 13 can be performed. Breaking 

down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is not allowed) 
(32, 39, 46) 
(54, 51, 48) 

Ans  1. (85, 45, 24) 

 2. (64, 43, 17) 

 3. (48, 30, 12) 

 4. (72, 44, 36) 
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Q.17  
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Q.20  

  

Ans 

 

 

 

 

Ans 
Q.22 In a certain code language, ‘BR-EW’ is coded as ‘8’, ‘CA-LF’ is coded as ‘14’. What is the code for ‘DA-

WN’ in that code language? 

Ans  1. 34 

 2. 30 

 3. 32 

 4. 36 

 

  
  
  

  

  

  

 
 

  

  

  

  

  
  
  

  
  
  

      

  



 

  

Q.23 In the following question, select the odd letter/letters from the given alternatives. 

Ans  1. ZVR 

 2. PLH 

 3. TPK 

 4. KGC 

 

  
  
  



 

Q.24 Words given on the left side of (::) are related with each other by some Logic/Rule /Relation. Select the 

missing word/word pair on the right side of (::) from the given     alternatives based on the same 

Logic/Rule/Relation. 

Ans Odometer : Distance Travelled by a Vehicle :: Barometer : ?1. Distance 

 

 2. Atmospheric pressure 

 3. Length 

 4. Temperature 

 

Q.25 W is the brother of X. V is the father of W. X is the husband of Z. Z is the sister of A. Who is the father in 

law of Z? 

 Ans  1. V 

 2. W 

 3. A 

 4. X 

 

  
  
  

  
  
  



 

  

 

   

  

  

  

  
  
  

 
   

  

  

  

  
  
  

  



 

  

Q.3  
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Q.4 Ans 
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Q.7  
 Ans 

  

 

 

 

 

Q.8 Ans 

 

 

 

 

 
Q.9 Ans 

 

  
  
  

  

  

  

  
  
  

  

  

  

  

  

  

    

  

  

  



 

  

 

  
  
  



 

Q.10  

  

Ans  

 

 

 

 

 

  
  
  

  

  

  

  

 

   

  

  

  

  
  
  

      



 

  

Q.12  

Ans  

 

 

 

 

  
  
  

  

  

  

  



 

  

Q.13  
  

   
Ans 

  

 

 

 

Q.14  

 Ans  

 

 

 

 

 

Q.16  

Ans  

 

 

 

 

  
  
  

  

  

  

  
  
  

  

  

  

  

 

   

  

  

  

  
  
  

  

  
 

  

  

  

  

  

  



 

  

Q.17   
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Q.2 Which of the following indicates the correct limit of marginal propensity to consume (MPC) ?  
     

Ans  1. -1 < MPC < 1 

    2. 0 < MPC < 1 

 3. -1 < MPC < 0 

 4. 0 < MPC < ∞ 

 

 Q.3 Which of the following was the capital of Pandyas? 

Ans  1. Kaveripattinam 

 2. Puhar 

 3. Aihole 

 4. Madurai 

 

 

Q.5 Which of the following teams did NOT qualify for the playoffs of the 15th edition of Indian 

Premier League? Ans  1. Rajasthan Royals 

 2. Gujarat Titans 

 3. Royal Challengers Bangalore 

 4. Mumbai Indians 

 

Q.6 Which of the following shortcut key is used to move the cursor one word to the left in MS-Word 365? 

Ans  1. Shift + Left arrow key 

 2. Ctrl + PageUp 

 3. Shift + PageUp 

 4. Ctrl + Left arrow key 

 

  
  
  

  
  
  

  
   

  

  

  

  
  
  

  
  
  

  
  
  



 

  

Q.7 What is the colour of the outer zone of completion combustion of a candle flame? 

 Ans  1. Yellow       

  2. Black 

 3. Orange 

 4. Blue 

 

Q.8 Mohiniyattam belongs to ______ in India, takes its name from the celestial enchantress Mohini. 

Ans  1. Maharashtra 

 2. Madhya Pradesh 

 3. Odissa 

 4. Kerala 

 

 

Q.10 Provisions as to disqualification on ground of defection are mentioned under which schedule of the Indian 

constitution? 

Ans  1. 11th schedule 

 2. 10th schedule 

 3. 9th schedule 

 4. 12th schedule 

 

Q.11 “Skilling of girls in non-traditional livelihood (NTL)” has been included in which flagship scheme? 

Ans  1. Pradhan Mantri Matru Vandana Yojana 

 2. Beti Bachao Beti Padao 

 3. POSHAN Abhiyaan 

 4. Rashtriya Mahila Kosh 

 

  
  
  

  
  
  

  
   

  

  

  

  
  
  

  
  
  

  
  
  



 

  

Q.12 Which of the following do/does NOT come under Union list of seventh schedule of the  
 Indian constitution?       

 Ans  1. Intoxicating liquors 

  2. Banking 

 3. Post and telegraphs 

 4. Audit of the accounts of the states 

 

Q.13 Which of the following is an exogenic force? 

Ans  1. Landslides 

 2. Wind 

 3. Volcano 

 4. Earthquake 

 

Ans 

Q.15 Which of the following is not an asexual form of reproduction in plants? Ans  1. 

Pollination 

 2. Spore formation 

 3. Vegetative propagation 

 4. Budding 

 
Q.16 Which of the following constellation is also called the hunter? 

Ans  1. Leo Major 

 2. Cassiopeia 

 3. Orion 

 4. Ursa Major 

 

  
  
  

  
  
  

 
  

  

  

  

  
  
  

  
  
  

  
  
  



 

  

Q.17 Which of the following is a rare species as per International Union for Conservation of Nature (IUCN)?

       

Ans  1. Lion tailed macaque 

  2. Blue sheep 

 3. Asiatic buffalo 

 4. Gangetic dolphin 

 

Q.18 The first cotton textile mill in Ahmedabad was started in which year? 

Ans  1. 1867 

 2. 1854 

 3. 1851 

 4. 1861 

 

Ans 
Q.20 Who has been elected as new Prime Minister of Pakistan in April 2022? 

Ans  1. Nawaz Sharif 

 2. Abbas Sharif 

 3. Imran Khan 

 4. Shehbaz Sharif 

 

Q.21 The Union Ministry of Home Affairs in 2022 banned the Popular Front of India (PFI) and its associates for 

______ years. 

 Ans  1. five 

 2. two 

 3. four 

 4. seven 

 

  
  
  

  
  
  

 
 

 

 

 

 

  
  
  

  
  
  

  
  
  



 

 

  
   

  

  

  

  
  
  

 
   

  

  

  

  
  
  

 
   

  

  

  

  
  
  

 
   

  

  

  

  
  
  

  

  

      


